223 circles in a 1x0.09920 rectangl e

(> )~
%VAeVA
(R ok )

(>

D0
aeg
< > {4

o
=)
>

D
e
%VAQVAMT
(S <>k >
*VAQVAv&r
o
JNVAQVA

<

+
+

I~

¥ n
hﬁﬁ%ﬂw

<k Pk )
%VAQVA
A O
< <
k)
- <
A O
%VAQVA
2O O
JNVAQVA
SO
Deo

OO

-+ VEA VEA
< >

)

oS0

%VAQVA
>

< <
JKVAQVA%
e
%VAQVAMT
>

S O
%VAQVA
080
JNVAQVA
A O

o
<[
o

<k Pk )
%VAQ <1

P>
626
JNVAQVA%

(>
(k)
oae
>~
>
>
e
S0
>

v

coao
20

%VAQVAMT

(< <>
ee
VAQVAXT

W
G
o
+
+
+

F

2
o

I~

*

I~

2600 ¢
%VAQVAMT
e

526
< >
A0
JNVAQ
k)

< <
S0
%VAQVA
AR O
*VAQVA
A O

>
e
O
>{

G
*
o

o
o

< <3k <+
G
> {5

<k Pk )
%VAQVA
080
JNVAQVA

oS0
VAeVAMT
e

B3
A O
%VAQVA
oo
VAQVA
(R

o
«

<k Pk )
%VAQVA
eTa
=

(o <
dDtes
*VAQVAXT

G
*
G

o
+

g
/T

[0 E. SpecHT

27- NOv- 2011

0. 871862822002

666

density

0.011111111111
0. 099202258114

radi us

contacts

hei ght



